>
A & 0l & AF 2 E A A
20198 &= Z0lat LB H =l Me k&
SN FOIMEXED
HE: HASS MO X
Cel: RODIZMBLE CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
QI M 2T 2 0t 11,677,651 10,962,054 715,597
= 6,095,719
s 298,800
= 1,203,208
Al 4,079,924
MASE 42y X 7,297,312 7,619,853 A 322,541
= 5,523,850
s 149,000
< 603,372
Al 1,021,090
R R o, 5,651,544 6,303,953 A 652,409
= 4,386,486
< 542,030
Al 723,028
IIzdaEdayods 29 3,480 3,480 0
201 Let24d] 1,680 1,680 0
01 At 22l 1,680 1,680 0
OINZMESEAAS ALY
70,000& * 4% 63 1,680
202 044l 1,800 1,800 0
01 SLHOIYI 1,800 1,800 0
OJI=Ma2d FMFX 1,800
HAS A 5,384,682 5,893,612 508,930
= 4,307,746
< 538,468
Al 538,468
301 gt 4= 5,384,682 5,893,612 508,930
= 4,307,746
< 538,468
Al 538,468
01 MI2ZE 6= 5,384,682 5,893,612 A 508,930
OMAZ0i(1,6008) 5,384,682
= 4,307,746
< 538,468
Al 538,468
mE=I= 22,770 30,411 AT, 641
308 XXM SO0l A 22,770 30,411 AT, 641
08 WEII20HStE X 22,770 30,411 AT,641
Ouns=s0(210) 22,770
HAZEH SN 59,358 44,700 14,658
= 47,486
< 3,562
Al 8,310
301 et a3z 59,358 44,700 14,658
= 47,486




SN FOIMEXE D
HE: HASS MEOUF N
Chel: Q) =MESR (=& J)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 3,562
Al 8,310
01 MEI2BZE+06l= 59,358 44,700 14,658
Odi&EH =™ (59Y) 59,358
= 47,486
< 3,562
Al 8,310
e HASE NH 150,000 120,000 30,000
307 21201 A 150,000 120,000 30,000
01 92724l 150,000 120,000 30,000
Oxael MASE mUALESE N
12,500,000& = 12& 150,000
a2y XA 31,254 43,750 A 12,496
= 31,254
301 Lete &3 31,254 43,750 A 12,496
=2 31,254
01 MEIBEE 053 31,254 43,750 A 12,496
OF=sd=2eldl &bt X3 31,254
= 31,254
ISEN=N = PNE-. | 1,645,768 1,315,900 329,868
= 1,137,364
s 149,000
< 61,342
Al 298,062
ANEXtgdy 29 302,507 253,586 48,921
= 211,755
Al 90,752
307 21201 A 302,507 253,586 48,921
= 211,755
Al 90,752
10 M2 SXNANEHES2IHEX 302,507 253,586 48,921
OXYxady 29 279,230
= 195,461
Al 83,769
OXNSGX&dE ML O0IsEL) 23,277
= 16,294
Al 6,983
At g2 K& 186,250 126,250 60,000
s 149,000
Al 37,250
307 21201 A 186,250 126,250 60,000
s 149,000
Al 37,250
05 RIZt2IEt = 186,250 126,250 60,000
OJtArzte 225201 A XHRH ALY 186,250




AN FUHEX S D
HE: HASS MEOUF N
Selr HAS NEX (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
e 149,000
Al 37,250
22 K& 943,148 770,288 172,860
= 754,518
< 56,589
Al 132,041
307 glz2tol & 943,148 770,288 172,860
=2 754,518
< 56,589
Al 132,041
11T M SRAISE EX 943,148 770,288 172,860
OXaZZ2AtY 943,148
= 754,518
< 56,589
Al 132,041
YIS EET AEXA 17,266 36,250 A 18,984
= 13,813
Al 3,453
301 et a = 17,266 36,250 A 18,984
= 13,813
Al 3,453
01 MEIBEE 2063 17,266 36,250 A 18,984
Ogdlssd NA 17,266
= 13,813
Al 3,453
Wedlssd MEXE 16,621 14,925 1,696
= 13,297
Al 3,324
301 LA Z 16,621 14,925 1,696
= 13,297
Al 3,324
01 MI28E +06l= 16,621 14,925 1,696
ougrlsss N 16,621
= 13,297
Al 3,324
YIS SE2 AEXA 73,751 82,921 A9,170
= 59,001
Al 14,750
301 et d = 73,751 82,921 A9,170
= 59,001
Al 14,750
01 MEIBEZE+06l= 73,751 82,921 N9,170
OslyIs8sE2 XA 73,751
= 59,001
Al 14,750
FE WIS H MEXE 27,012 31,680 A 4,668




AN FRMSTA L
HE: HASS MEOE XL
Celr MASs A (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 21,610
Al 5,402
301 LEtE L= 27,012 31,680 N4,668
= 21,610
Al 5,402
01 MEI2EZE+05l= 27,012 31,680 N4,668
OFdsLIs=d NE 27,012
= 21,610
Al 5,402
2EAS 79,213 0 79,213
= 63,370
< 4,753
Al 11,090
301 et a3z 79,213 0 79,213
= 63,370
< 4,753
Al 11,090
01 AR 2Z A 53 79,213 0 79,213
OSSR 79,213
= 63,370
< 4,753
Al 11,090
MBI RANMEA 8EHAH A5 1,055,554 972,758 82,796
= 403,911
s 149,800
< 53,939
Al 447,904
HAANES 23 35,976 36,488 Ab512
< 8,500
Al 27,476
HAX 2= 10,260 10,260 0
201 Let249] 2,500 2,500 0
01 At 22/l 2,500 2,500 0
ORdD AMZYX 21 2,500
301 LEtE A= 7,760 7,760 0
01 MEIBZE 06z 7,760 7,760 0
Odleiit=3 SAHI 7,000& = 1541 = 12& 1,260
Odled Xt Het i 20,0003 = 5% « 123 1,200
O Xt7S ==l 50,000& = 5% = 43 1,000
Odled X5 L=l 50,000& = 1& = 6& 300
OAtZ X+ ZHbl 750,000& » 29H 1,500
OAZ X O & HI 750,000& = 29H 1,500
OMZR X Z 50,000& = 27 = 10 1,000
=M = 4,000 3,500 500




AN FRMSTA L
Y FOMESXIAAMEA BLHH 25
S HAANE ES (cho &)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
201 Le-2d| 4,000 3,500 500
03 A2 Z Hl 4,000 3,500 500
OR=H = 4,000
Mol =S 22l 4,716 4,728 A2
201 L2l 420 432 A2
02 =224l 420 432 A2
Ol 7S SS2el LAY Sl
35,000& = 12& 420
202 O4dl 1,296 1,296 0
01 = LH o4 1l 1,296 1,296 0
OMais g2FA
81,000& = 298 = 2 « 43| 1,296
307 glz2tol & 3,000 3,000 0
01 =2 =4l 3,000 3,000 0
OSZL Mol maiotE 2 =4AHH K&
300,000& » 102t 3,000
e 2AS X 17,000 18,000 21,000
< 8,500
Al 8,500
301 g2 L= 17,000 18,000 21,000
< 8,500
Al 8,500
01 A3l EE E =56l = 17,000 18,000 A 1,000
Oxtarel 218 X& 17,000
< 8,500
Al 8,500
FOMST2AME A XHA 25 31,292 93,992 A62,700
FOMEST2AEI AN 2 15,732 90,432 AT4,700
201 L2l 3,900 3,600 300
01 At 22l 3,900 3,600 300
OFUMEIANEA EEE HE
200 = 2& = 1,0000H 400
OFUdaT2AMEA FHEE 2272
10,0002 * 3504 3,500
202 Odl 5,832 5,832 0
01 = LH 4 4l 5,832 5,832 0
ZOMBNAMYA 2T
81,000& = 2% = 3 = 123 5,832
203 PR =&l 5,000 10,000 A5,000
03 Al =X A2 =& 5,000 10,000 25,000
ONMASES MEtmU™ 5,000
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SN FEoIN

Ha: FoME
[s]3 &
=< (=]

FANH A BEMA 2=

Sel: XE SHAHA )BTRS EEREED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
02 QI AAIE E X 5,150 5,000 150
OEHB AN EXUHE K& 5,150
10 Al EXNAEEHE2IH EX 75,800 65,000 10,800
OME=XEAG &9 70,000
& 14,000
Al 56,000
OM3I=EXEos S (XA 5,800
NEAMIEBHEAM 2 56,144 47,800 8,344
= 6,600
Al 49,544
201 2Et24Ay| 2,800 2,800 0
01 AP 22| d| 2,800 2,800 0
OXSEAMIEE E2AM AL
70,000 * 20Y « 23| 2,800
307 giztol A 53,344 45,000 8,344
& 6,600
Al 46,744
10 MM SAANEEHESIGHEX 53,344 45,000 8,344
OXNGAMIIBEHE AN &9 XN 33,000
= 6,600
Al 26,400
OXNYAMEBESEOAH 29 X (KHA) 20,344
NEAMISXNAAHMH TS 1,400 1,400 0
301 et A= 1,400 1,400 0
09 SHAIAHI E A2 1,400 1,400 0
OpIZa e 5|0 &A 1,400
22=X X 436,714 312,500 124,214
= 349,371
= 17,469
Al 69,874
301 et A= 436,714 312,500 124,214
= 349,371
& 17,469
Al 69,874
01 Al B & A 462 436,714 312,500 124,214
o223 X XSAY 436,714
= 349,371
&< 17,469
Al 69,874
K GAS HHIA EXFAE XS 184,250 123,750 60,500
g 147,400
= 7,370
Al 29,480
307 2Iz2t0| & 184,250 123,750 60,500




A FOUMET R D
Hu: ZoMBNAMHA BYHH 7=
Sel: AEE SHMUIA JYRE CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Fag 147,400
& 7,370
Al 29,480
05 QIZ2tR E 2 184,250 123,750 60,500
OX S AE MHIA EXFAY 184,250
g 147,400
= 7,370
Al 29,480
X EASIHEI A EXNAIYE 229 XK 3,000 5,000 A 2,000
=+ 2,400
Al 600
201 et 9| 3,000 5,000 A 2,000
Fag 2,400
Al 600
01 AR 22l ] 3,000 5,000 A 2,000
OXNGAMSABAEXNANYE EE2S MHE 3,000
Fag 2,400
Al 600
XNEAtSI 2R3 XA 5,000 5,000 0
307 2Iz2t0| & 5,000 5,000 0
11T A EXAIEEX 5,000 5,000 0
OXEANSEESEAM XA 5,000
A2 S At 22l A 15,000 15,000 0
= 7,500
Al 7,500
201 LBt Y| 7,500 7,500 0
= 3,750
Al 3,750
01 AP 22| d| 7,500 7,500 0
OAdl 2l Al 24 7,500
= 3,750
Al 3,750
301 et A= 7,500 7,500 0]
= 3,750
Al 3,750
01 Al E& A 262 7,500 7,500 0
OEXAEIA XA 7,500
= 3,750
Al 3,750
BAEXNEE A KSAS 82,000 80,000 2,000
307 2iz2to| & 82,000 80,000 2,000
11T AISIEXAIEEX 82,000 80,000 2,000
OBHX-AHN SSt=2SHH &9 82,000
T3y 29 X 10,000 10,000 0
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AN FUHEX S D
Hu: ZoMBNAMHA BYHH 7=
S ZAMYRY M2 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Oddlig 228 st
1,000& * 1,000H 1,000
02 =224l 2,484 2,484 0
OSE XA E XS XA 84,000& * 13 84
OSEXAXE KX 2 200,000& = 123 2,400
202 Odl 3,000 3,000 0
01 = LH 4 Hi 3,000 3,000 0
Osg=x=Atztel g2=2 2,000
ORI A MEAE] & XA 1,000
301 et a3z 3,000 3,000 0
01 MI28HE+06l= 3,000 3,000 0
OY=Z4&E ek 2357
20,000& 1500t 3,000
SNags 2922 1,220 1,220 0
201 Let24d] 1,220 1,220 0
01 At 22l 1,220 1,220 0
Oaga &#3HA 300,000& = 23l 600
OYEX HUE ttur+7¢ 620
MBI=X Jlg =24 293,171 285,101 8,070
< 234,641
Al 58,530
NDAS X J1g 2= 293,171 285,101 8,070
< 234,641
Al 58,530
MIZEREE B2 10,560 10,560 0
< 2,112
Al 8,448
201 L4l 10,560 10,560 0
< 2,112
Al 8,448
01 At 22l 10,560 10,560 0
OZ2 A3 =EXNAE2 E23(220%) 10,560
< 2,112
Al 8,448
CHAHAOHE S8 X 55,541 55,541 0
< 11,108
Al 44,433
301 et A= 55,541 55,541 0
< 11,108
Al 44,433
01 AR 2Z A5 3 55,541 55,541 0
OnSsn 2942 2 Ys3 40,541
= 8,108




D FOMEAD
DABIE T OlE EA
N EVISITTIEE

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 32,433
ousts=Es 15,000
< 3,000
Al 12,000
S0 ALY 8,070 0 8,070
= 2,421
Al 5,649
301 et a = 8,070 0 8,070
< 2,421
Al 5,649
01 MEIBEE 263 8,070 0 8,070
O=sstolg=e a8 o= N 2,000
< 600
Al 1,400
OS&tolg=xe Fad sty X 6,070
< 1,821
Al 4,249
B2XNE HNASE HEHWSH XA 219,000 219,000 0
= 219,000
308 XXM SOIA 219,000 219,000 0
< 219,000
08 WEII20HStE X 219,000 219,000 0
OZXY HASE HHLSH XNFAS 219,000
< 219,000
t2Es2el & X 1,657,166 829, 228 827,938
= 123,420
Al 1,533,746
23 2SS 1,657,166 829, 228 827,938
< 123,420
Al 1,533,746
IS X 137,566 337,028 A~ 199,462
201 et 4,000 6,500 A 2,500
02 2324l 4,000 4,000 0
OFEANEE RA2e & S#ZHHI
2,000,000 = 200 A 4,000
202 oddl 972 972 0
01 = LH o4 1l 972 972 0
OEEgS® =& 81,0008 » 2H » 22 * 33/ 972
301 L A3 8,000 7,100 900
01 AR 2Z A5 3 8,000 7,100 900
O=J:3AH A2
100,000& * 10004 * 23 2,000
OIZNREN E2IE 92
30,000& = 100 = 23l 6,000
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AN FUHEX S D
¥y 2))PEzel L Y
Sl 2INRBA BB CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OIS A =23 200,000& * 409 8,000
6.258 % JIE &AL 8,700 8,200 500
201 Lt 4,700 4,700 0
01 At 22l 2,000 2,000 0
OLietAtE (8 2) 3 2 us (2 A=)
1,000,000 = 23l 2,000
03 &Ar2 Gl 2,700 2,700 0
O824 (s241) 200,000& = 14 200
O8+% 2 HiH(EES) 60,0002 = 204 1,200
OEI=ZI1-*0H 1,000& * 5004 500
Ox=&3Z& M= 700& = 1,0000H 700
Ozstet 100,000& * 12K 100
301 et A=z 4,000 3,500 500
09 AL HIZB &S 4,000 3,500 500
O6.258 A EIt R =4 K&
8,000& = 500 4,000
Nol=52 & JIE & A} 3,000 0 3,000
201 Let2d] 3,000 0 3,000
03 &Ar2 I 3,000 0 3,000
OMdll=32 & &At 3,000
2232 HE 1,022,900 0 1,022,900
401 AIEHI L 20 1,022,900 0 1,022,900
01 A& HI 1,000,000 0 1,000,000
OBs3l& MEIA 1,000,000
02 Zeltl 16,600 0 16,600
OEg3 & M=3 A Zaltl 16,600
03 Al S THHI 6,300 0 6,300
OB 32 M=I3 A 20U
1,000,000,000& * 0.63% 6,300
AZ -2l 2e 565,066 554,846 10,220
= 104,622
< 187,836
Al 272,608
AE - BS fldze 565,066 554,846 10,220
= 104,622
< 187,836
Al 272,608
SAZSIHE ALY 30,368 30,368 0
301 et a = 30,368 30,368 0
12 JIE2 43 30,368 30,368 0




A FOUMET R D
M AE QM 2L
e A - 23 fM2e (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@i HRE2
SEEIEEFEEEE T
18,000 = 60 & = 12&€ 12,960
OR2Y o e gas MY &
890& * 100H * 60JHA = 128 6,408
ORgAAL EXE &AX 100,000 = 250 £ 2,500
ONsds 2As5gA HOAEE X2
25,000 * 10000 & 2,500
OE238A MFD| ZEIY 2 MsI| XS
500& * 5000 * 2= * 1200 & 6,000
A EOHM 22| 11,234 11,234 0
201 et | 1,400 1,400 0
01 AP 22| d| 1,400 1,400 0
OAMEtN22 EE2E ME  3,500& * 20004 700
ONE0IAI SN ES Y THIHYE A O E X| &
NESS 10,0002 * 700H 700
202 04l 4,344 4,344 0
01 2L Y| 4,344 4,344 0
TE - ABAM g2EX
81,0008 » 2 % 22 % 63 1,944
OAMAL SHass 2,400
206 M = Hl 2,550 2,550 0
01 X2 H| 2,550 2,550 0
On|ME 2t0121E & ¢
8,500& * 100 » 3= 2,550
301 2Bt A= 2,940 2,940 0
12 JIEtE A2 2,940 2,940 0
OAE4+H ZAHH B4
10,000& = 1224 = 123 1,440
ORIEHAZE ADEZAZ 100,000& = 3AH 300
OAHI XA S/AMUAAR 2SH|
50,000 * 6H = 4L 1,200
Helols2al e XM 29 200,000 200,000 0
= 100,000
& 40,000
Al 60,000
307 2izto| & 200,000 200,000 0
= 100,000
& 40,000
Al 60,000
05 QIZtRE S 200,000 200,000 0
Ooglo saae NEdyd X 200,000
= 100,000
= 40,000
Al 60,000
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AN FUHEX S D
M AE QM 2L
Sl AE - 3BF MBE CER-ED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ONgolIsAa s dgaeld sl 5,500
= 2,750
Al 2,750
ALIOT ZAIE &3l 1,500 1,500 0
= 750
Al 750
301 et a3z 1,500 1,500 0
= 750
Al 750
12JIE24 3 1,500 1,500 0
OAUOMZAIE Estl 1,500
2 750
Al 750
SAE MSSH NE dIt XNEAY 1,120 0 1,120
= 336
Al 784
403 A X EHS =0l A 1,120 0 1,120
= 336
Al 784
02 SO 2SOIlCHsH A2 X 2| & A I 1,120 0 1,120
OSAE M4SSH XNE Eot XNFAY 1,120
< 336
Al 784
HY2HIH (FUMER ) 219,919 198, 143 21,776
= 63,336
Al 156,583
JlE &3l 42,091 43,000 A 909
Jl23Hl 42,091 43,000 A 909
201 £8-2dH| 35,491 34,880 611
01 At 22l 30,691 30,680 1
ORNME2Y Jl=ZHl 200,000& = 12& 2,400
OMREE FL(SAMX S) 200,0008 * 128 2,400
O#MHAIRII 422 2¢
200,000& = 804 23l 3,200
OsSAI(=EI)extE
220,000& = 204 ~ 123 5,280
Odz3a=J gz 50,900& = 12& 611
Oz &l 8,000& = 259 « 7¢ » 12& 16,800
02 =24l 4,800 4,200 600
ORERS 400,000& = 12& 4,800
202 O4dl 2,400 1,920 480
01 2404l 2,400 1,920 480
OHl&d=22 20l 2,400




AN FUHEX S D
HE: HYPYAH (FUMBRRA
el Jl23dl 9 )
SN BA(SA) - MRAY - BES il HImEET
203 YR =&l 4,200 6,200 A 2,000
04 FN2ELRZ=TH 4,200 4,200 0
ORMSIYRFLHI 350,000& = 12& 4,200
ol 2 gl 177,828 155,143 22,685
2 63,336
Al 114,492
QA 2HHI (SE At 22l A) 149,681 130,224 19,457
2 63,336
Al 86,345
101 @124 dl 149,681 130,224 19,457
2 63,336
Al 86,345
03 RIAHAZZ2TE = 149,681 130,224 19,457
OSE At Z2lAH4E) 149,681
oll2Z ¥ A2+ S 126,672
2 63,336
Al 63,336
o F MG A 120,000& = 49H 5,760
= JHAH 2 =4l 40,000 * 49 1,920
ocItELd 180,000 2,160
o XN R 70,000& = 49 3,360
o F A F I 500,000& = 4% = 23 4,000
cHIRSFL+=E 80,6708 * 4% 5,809
lHAIHI(EY - SEAE ©X) 28,147 0 28,147
101 @124l 28,147 0 28,147
03 RIHAZ 2N E =+ 28,147 0 28,147
O=2dY - 2ZAE = 28,147
=Jlas 1,234,370 * 1H 14,813
o= 1,234,370& = 1% 4,938
oXHAEHSE 100,000& » 1Y 1,200
o Z A G A 120,000& = 1H 1,440
ol 100,000& » 1Y 1,200
< JHH 2 &4l 30,000& = 1&H 360
oA 70,000& * 1% 840
ctE=¢ 40,000 * 19& 480
o H A F | 1,234,370& » 1% 1,482
cHXRSFINE 77,4408 + 1H 1,394
Negs(Foazxas) 589,463 502, 125 87,338
WEHHX S 589,463 502,125 87,338
HEHeH X = 589,463 502,125 87,338
701 JIEtSI HETES 589,463 502,125 87,338
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